
Jøtul North America  55 Hutcherson Drive  Gorham, Maine  04038               138079-E  7/20

Jøtul Accessories

Rear Heat Shield  
 Installation Instructions

for the 
 F 500, F 500 V3 Oslo  

 and F 600 Firelight   

Contents:
 Kit #154332  F 500 Oslo / F 500 V3  
 Kit #154329  F 600 Firelight  

 •  Rear Heat Shield 
 •  Flue Collar Heat Shield 
 •  4” Mounting Brackets (2) 
 •  3 3/4” Short Bracket, 500 V3 (1) 
 •  #8 x 1/2” sheet metal screws (10) 
 •  10 mm hex head flange nuts (2) 
 *  6 mm washers (2)

 

ASSEMBLY
The heat shields are perforated on fold lines for easy assembly.  Assemble the Rear Heat Shield 
first and, if appropriate, then the flue collar heat shield (for top-exit chimney connection), as 
shown in the illustrations below. 

 
CAUTION: USE SAFETY GLOVES WHILE WORKING WITH THE HEAT SHIELDS.

Tools Required: 
•  1/4” nut driver

 •  10 mm open end wrench
 •  safety gloves 

•  safety goggles 

Fold sides 45°.1

Painted surface 
faces back

Bend upper flanges down 90° and tuck 
behind each side. Fasten with sheet 
metal screws.

#8 x 1/2” 
sheet metal 
screws

2

Orient the Flue Collar Heat Shield as 
shown, painted side UP. Bend the side pan-
els forward 90°.

3

Painted surface 
faces back

Side Panel Side Panel

����

Side Panel

Bend  
Side Flange up.

4

Painted surface 
faces back

Bend the side flanges up 90°.



Attach the Rear Heat Shield to the stove. 

1. Attach Mounting Brackets:
 Locate the two threaded studs on the back of the 

stove. DO NOT REMOVE THE NUTS FROM THESE 
STUDS. Place the end of bracket with the larger 
clearance hole over the threaded stud and attach it 
with a washer and nut supplied with this kit. 

 
 F 500 V3 NOTE: 

Use the short bracket to attach the shield to the left 
side as you face the stove.

 
 Tighten all nuts securely with a 10 mm wrench and 

repeat with the other bracket.

2.  Attach the Heat Shield:
 Align the through holes on the heat shield with 

the pilot holes in the brackets. NOTE: THE BOTTOM 
EDGE OF THE HEAT SHIELD RESTS ON THE EDGE OF 
THE STOVE BOTTOM PLATE. THE SIDE EDGES OF THE 
HEATSHIELD TUCK IN BEHIND THE SIDE EDGES OF 
THE STOVE. Secure the heat shield to the mounting 
brackets using the two remaining #8 x 1/2” sheet 
metal screws.

5

6 TOP-EXIT ONLY: Attach the Flue Collar Heat 
Shield to the Rear Heat Shield.

#8 x 1/2” 
sheet metal 
screws

Lower 
flange 
oriented 
over the 
Rear 
Heat 
Shield

Figure 3.  F 600: 
Use the 3”-long mounting brackets to attach the heat shield.

Flue Collar 
Shield  
(top-exit only)

Tuck shield 
sides behind 
the edge of 
the stove 
side.

Fange nut 
to studs 

Figure 1.  F 500: 
Use 4”-long mounting brackets to attach the heat shield.

Washers 
and flange 
nut  
on 
studs

Flue Collar 
Shield  
(top-exit only)

4 1/2” Bracket
Tuck shield 
sides behind 
the edge of 
the stove 
side.

#8 x 1/2” 
sheet metal 
screws

Short 
Bracket

#8 x 1/2” 
sheet metal 
screws

Flue Collar 
Shield  
(top-exit 
only)

Existing 
flange nut 
and fender 
washer 

Tuck shield 
sides behind 
the edge of 
the stove 
side.

Figure 2.  F 500 V3: 
Use the shorter mounting bracket to attach the heat shield to the left side 
stud. Do not remove the existing nuts from the two mounting studs. 

4 1/2” Bracket

#8 x 1/2” 
sheet metal 
screws



Jøtul Accessoires

Écran thermique arrière
  instructions d’installation

pour le 
 F 500, F 500 V3 Oslo  

 et F 600 Firelight   

Contenu:
Kit # 154332 F 500 Oslo / F 500 V3
Kit # 154329 F 600 Firelight
• Écran thermique arrière
• Écran thermique du collier de cheminée
• Supports de montage 4 1/2 ”(2)
• Support court 3 3/4 ”, 500 V3 (1)
• Vis à tôle n ° 8 x 1/2 ”(10)
• Écrous à bride à tête hexagonale de 10 mm (2)
* Rondelles 6 mm (2) 

ASSEMBLÉE
Les boucliers thermiques sont perforés sur les lignes de pliage pour un assemblage facile. 
Assemblez d’abord l’écran thermique arrière et, le cas échéant, ensuite l’écran thermique du 
collet de cheminée (pour le raccordement de la cheminée par le haut), 
comme indiqué dans les illustrations ci-dessous.

Jøtul North America  55 Hutcherson Drive  Gorham, Maine  04038               138079-E   7/20

Outils nécessaires:
• Tourne-écrou 1/4 ”
• Clé plate de 10 mm
• gants de sécurité
• lunettes de sécurité 

Pliez les côtés à 45°.1

La surface peinte 
est tournée vers 

l’arrière

Pliez les brides supérieures à 90° et repliez-
les derrière chaque côté. Fixez avec des vis 
à tôle.

Vis à tôle  
#8 x 1/2 ”

2

Orientez l’écran thermique du collier de chemi-
née comme illustré, côté peint VERS LE HAUT. 
Pliez les panneaux latéraux à 90° vers l’avant.

3

La surface peinte 
est tournée vers 

l’arrière

Panneau latéral Panneau latéral

����

Pliez le 
panneau 
latéral vers le 
haut..

4 Pliez les flasques latéraux à 90°.

ATTENTION: UTILISEZ DES GANTS DE SÉCURITÉ  
LORSQUE VOUS TRAVAILLEZ AVEC LES ÉCRANS THERMIQUES.

La surface peinte est 
tournée vers l’arrière

Panneau latéral



Fixez l’écran thermique arrière au poêle. 

1.  Fixez les supports de montage:
 Localisez les deux goujons filetés à l’arrière 

du poêle. NE PAS ENLEVER LES ÉCROUS DE CES 
GOUJONS. Placez l’extrémité du support avec le plus 
grand trou de dégagement sur le goujon fileté et 
fixez-le avec une rondelle et un écrou fournis avec 
ce kit.

REMARQUE:
 Utilisez le support court pour fixer le bouclier sur le 

côté gauche lorsque vous faites face au poêle.

 Serrez fermement tous les écrous avec une clé de 10 
mm et répétez l’opération avec l’autre support.

2. Fixez l’écran thermique:
 Alignez les trous traversants de l’écran thermique 

avec les trous pilotes dans les supports.  
REMARQUE: LE BORD INFÉRIEUR DU PARE-CHALEUR 
REPOSE SUR LE BORD DE LA PLAQUE INFÉRIEURE DU 
POÊLE. LES BORDS LATÉRAUX DU PARE-CHALEUR SE 
PLACENT DERRIÈRE LES BORDS LATÉRAUX DU POÊLE. 
Fixez l’écran thermique aux supports de montage à 
l’aide des deux vis à tôle n ° 8 x 1/2 ”restantes.

5

6 SORTIE PAR LE HAUT UNIQUEMENT: Fixez 
l’écran thermique du collier de cheminée à 
l’écran thermique arrière.

Vis à tôle #8 
x 1/2”

Bride inférieure 
orientée 
sur l’écran 
thermique 
arrière

Figure 3.  F 600: 
Use the 3”-long mounting brackets to attach the heat shield.

Écrou de 
bride aux 
goujons

Figure 1.  F 500: 
Utilisez des supports de montage de 4 po de long pour 
fixer l’écran thermique.

Bouclier de collier de 
cheminée
(sortie par le haut 
uniquement)

Support de 4 1/2“
Rentrez les 
côtés de 
l’écran der-
rière le bord 
du côté du 
poêle.

Support 
court

Rondelles 
et écrou à 
bride
sur
clous

Figure 2.  F 500 V3: 
Utilisez le support de montage plus court pour fixer l’écran 
thermique au goujon du côté gauche. Ne retirez pas les 
écrous existants des deux goujons de montage.

4 1/2” Support

Bouclier de collier de 
cheminée
(sortie par le haut 
uniquement)

Vis à tôle 
#8 x 1/2”

Vis à tôle 
#8 x 1/2”

Rentrez les 
côtés de 
l’écran der-
rière le bord 
du côté du 
poêle.

Rondelles 
et écrou à 
bride
sur
clous

Bouclier de collier de 
cheminée
(sortie par le haut 
uniquement)

Vis à tôle 
#8 x 1/2”

Rentrez les 
côtés de 
l’écran der-
rière le bord 
du côté du 
poêle.


